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1A LA DB ERE=220kPa+ (RIRFFDRE
A B C D E F H I P

BE | By |RoEE |asmy| sk [tassE ss2| 1B |fEee| sanE| =25E | #Ee
18 6.6 0 0.20% -2.9 7.1 0 0 0 2200 O
2H 6.8 0 0.20% -29 6.2 (0.9) 15 -1.4 -05 2152 -2.2
3H 9.6 0 0.20% -4.1 8.4 2.2 1.5 33 -05 2151 -2.2
48 14.9 0 0.20% -6.5 13.0 46 15 6.9 -0.5 2174 -1.2
5H 19.2 0 0.20% -8.4 18.1 5.1 15 7.7 -0.5 218.1| -09
6H 22.2 0 0.20% -9.5 21.7 36 15 5.4 -0.5 2146 -25
7H 25.7 0 0.20%| -10.7 24.3 2.6 15 39 -0.5 2085 -5.2
88 27.4 0 0.20% -11.1 27.6 33 1.5 5.0 -05 202.2| -8.1
9A 23.9 0 0.20% -9.0 25.9 (1.7) 15 -26 -05 188.1| -145
108 18.7 0 0.20% -6.4 20.4 (5.5) 15 -8.3 -0.5 170.3| -22.6
118 13.7 0 0.20% -4.3 15.5 (4.9) 15 -1.4 -0.5 156.1] -29.0
128 9.2 0 0.20% -2.6 10.5 (5.0) 15 -15 -0.5 143.8| -34.6
18 6.6 0 0.20% 0.0 7.1 (3.4) 15 -5.1 -0.5 135.6] -38.4
F 16.5 -78.4 -35.6% 0 -6.0 -84.4
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1B L AIDRAELERE=220kPa+ ( BEEFFD RS
A B C D E F G H I P
BB | BEY | ROEE |BRERH| BAR J:’ﬁ.lﬁf%l SEBE| 1E |[BEEE aRBR| ZRE | #EH%
1A 6.6 o o204 29 71 0 0 ol 22000 o
28 6.8 0 0.20% -29 6.2 (0.9) 1.1 -1.0 -05 2156 -2.0
38 9.6 0 0.20% -4.1 8.4 2.2 1.1 2.4 -05 2146 -25
47 149 0 0.20% -6.4 13.0 4.6 1.1 5.1 -05 2150 -23
55 19.2 o| o204 -82| 181 51 11 56| 05| 2137 -28
68 222 o o204 93] 217 36| 11 20| 05| 2090 -50
78 257 o o204 -104] 243 26| 11 20|  -05| 202.1| -82
8H 27.4 0 0.20% -10.7 27.6 3.3 1.1 3.6 -0.5 194.8| -11.4
9H 23.9 0 0.20% -8.7 25.9 1.7) 1.1 -19 -05 1818 -174
10H 18.7 0 0.20% —-6.2 204 (5.5) 1.1 -6.1 -0.5 166.5| —-24.3
118 13.7 0 0.20% -4.2 15.5 (4.9) 1.1 -54 -05 154.4| -29.8
128 9.2 of o208 27 108 Go| 11 55| 05| 1442| -345
1H 6.6 0 0.20% 0.0 71 (3.4) 1.1 -3.7 -0.5 137.3| —-37.6
& 16.5 —76.7| -34.9% of -60| -827
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EEDEFKEK[TEAEZER) X1E=#1 5kPaTHEL- B4
1B LAIDRAEER[E=220kPa+ ( AEFFDSIE-7.1F) X 1.5kPa
A B C D E F G H I P
BB | BEs | mosE[azms| axr | tasa ssz] 1B [ssxz srR| Z5F | #H%
1H 6.6 5 0.20% -0.7 7.1 0 0 0 220.0 0
28 6.8 5 0.20% -0.8 6.2 (0.9) 1.5 -1.4 -0.5 2174 -1.2
38 9.6 5 0.20% -2.0 8.4 2.2 15 3.3 -05 2195 -0.2
47 14.9 5 0.20% -4.4 13.0 4.6 1.5 6.9 -05 223.8 1.7
5H 19.2 5 0.20% -6.4 18.1 5.1 1.5 7.7 -05 226.6 3.0
6H 222 5 0.20% =1.7 21.7 3.6 1.5 54 -05 225.0 2.3
78 25.7 5 0.20% -9.1 243 2.6 1.5 3.9 -0.5 220.7 0.3
8H 27.4 5 0.20% -9.7 27.6 3.3 1.5 5.0 -0.5 216.0] -1.8
9H 23.9 5 0.20% =1.7 259 1.7) 1.5 -2.6 -05 203.3] -76
10H 18.7 5 0.20% -5.1 20.4 (5.5) 1.5 -8.3 -05 186.8] —-15.1
118 13.7 5 0.20% -3.0 15.5 (4.9) 1.5 -7.4 -0.5 17391 -21.0
12H 9.2 5 0.20% -14 10.5 (5.0 1.5 -75 -05 162.8] —-26.0
1H 6.6 5 0.20% 0.0 71 (3.4) 1.5 -5.1 -05 1559 -29.1
&F 16.5 -58.1 -26.4% 0 -6.0 -64.1
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1B LA DAERERE=220kPa+ ( ERREDO&E
A B C D E F G H I P
AB | BEY |[ROEE |BARY| BAR | LAKE| JERE| 1B |[REFE| ARFE| Z5E | EH%
18 6.6 5 0.20% -0.7 7.1 0 0 0 2200 O
2R 6.8 5 0.20% -0.8 6.2 (0.9) 1.1 -1.0 -05 2178 -1.0
3R 9.6 5 0.20% -2.0 84 2.2 1.1 24 -05 2189 -05
47 14.9 5 0.20% 4.4 13.0 46 1.1 5.1 -05 2215 0.7
58 19.2 5 0.20% -6.3 18.1 5.1 1.1 5.6 -05 2222 1.0
68 22.2 5 0.20% -75 21.7 3.6 1.1 40 -05 219.4| -0.3
78 25.7 5 0.20% -89 243 2.6 1.1 29 -0.5 2142 -26
8A 274 5 0.20% -9.3 27.6 3.3 1.1 3.6 -0.5 208.4| -5.3
98 239 5 0.20% -7.4 25.9 (1.7) 1.1 -1.9 -05 196.7| -10.6
108 18.7 5 0.20% -5.0 20.4 (5.5) 1.1 -6.1 -05 182.7| -16.9
118 13.7 5 0.20% -3.0 15.5 (4.9) 1.1 -54 -05 171.8] -21.9
128 9.2 5 0.20% -1.4 10.5 (5.0) 1.1 -55 -05 162.9| -26.0
18 6.6 5 0.20% 0.0 7.1 (3.4) 1.1 -3.7 -05 157.2| -285
= 16.5 -56.8] -25.8% 0 -6.0 -62.8
250.0
200.0
150.0
100.0
50.0
0.0
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AB | AEY | ROEE |B5A%E2| 200 210/ 220 230| 240| 250 260| 270[ 280 290 300
18 6.6 0 020% 26| 28 29| 30/ 32 33 34 36| 37 38 40
2R 6.8 0 020% 27| 29| 30| 31| 33| 34| 35| 37 38/ 39 41
3R 9.6 0 0.20% 38| 40| 42| 44 46| 48] 50 52| 54 56| 58
4R 14.9 0 020% 60| 63 66| 69/ 72 75 77 80| 83 86 89
5H 19.2 0 020% 77| 81| 84| 88 92 96| 100 104| 108| 11.1[ 115
68 22.2 0 0.20% 89| 93| 98| 102] 107[ 11.1| 115 120 124| 129 133
718 25.7 0 0.20% 103| 10.8| 11.3| 11.8] 123 129| 134 139| 144| 149| 154
8H 27.4 0 0.20% 11.0| 115| 121 126| 132| 13.7| 142| 148 153| 159 164
9R 23.9 0 0.20% 9.6| 100| 105 11.0| 115 120| 124 129 134| 139 143
108 18.7 0 020% 75| 79| 82| 86/ 90[ 94| 97 101| 105 108 11.2
118 13.7 0 020% 55| 58/ 60| 63 66| 69 71 74| 77 79| 82
128 9.2 0 020% 37| 39| 40| 42| 44 46| 48 50/ 52| 53 55

F 16.5 -79.2| -83.1| -87.1| -91.0| -95.0| —99.0[-102.9|-106.9|-110.8|-114.8|-118.7

15BN BEARRBN-R;21°CTO. 20%T:tHE
HBRRBNEOEE=-5COEE

BB | BEY | ROERE |BA%S| 200 210 220 230] 240 250| 260[ 270| 280 290| 300
18 6.6 5( 020% 06/ 07 07 07 08 08 08 09 09 09 10
28 6.8 5 020% 07 o8 08 08 09 09 o9 10 1o0f 10f 11
38 9.6 5( 020% 18| 19| 20| 21| 22| 23 24 25 26 27 28
48 14.9 5( 020% 40| 42| 44| 46| 48 50 51 53 55 57 59
5A 19.2 5( 020% 57 60| 62| 65 68 71 74 77 80| 82 85
68 222 5( 020% 69| 72| 76| 79| 83 86| 89 93 96| 100/ 103
78 25.7 5( 020% 83| 87 91 95 99| 104| 108 112| 116 120 124
8 A 274 5( 020% 90| 94| 99| 103| 108| 112| 116 121| 125/ 130 134
98 239 5( 020% 76|/ 79| 83| 87 91 95 98 102| 106 110/ 11.3
108 18.7 5( 020% 55 58 60| 63 66 69 71 74 77 79/ 82
1A 13.7 5( 020% 35| 37| 38 40| 42| 44 45 47| 49| 50/ 52
128 9.2 5( 020% 17| 18 18 19| 20| 21| 22| 23| 24 24 25
& 16.5 -55.2| -57.9| -60.7| -63.4| -66.2| -69.0| -71.7| -74.5| -77.2| -80.0| -82.7
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15BOBEARBN=-5;B31°CTO. 18%Tit&E
BARRNEOEE=0COFE

AB | AEY | ROEE |B5A%E2| 200 210/ 220 230| 240| 250 260| 270[ 280 290 300
18 6.6 0 0.18%| 24| 25| 26 27 29/ 30/ 31| 32| 33 34 36
2H 6.8 0 0.18%| 24| 26| 27 28 29[ 31| 32 33 34 35 37
3H 9.6 0 0.18%| 35| 36| 38 40| 41| 43| 45 47| 48/ 50[ 5.2
48 14.9 0 0.18% 54| 56/ 59| 62| 64/ 67| 70 72| 75 78 80
5H 19.2 0 0.18%| 69| 73| 76| 79/ 83 86/ 90f 93 9.7 100| 104
6H 22.2 0 0.18%| 80| 84| 88| 92 96 100[ 104 108 112 116| 120
7R 25.7 0 0.18%| 93| 97 102 106 11.1| 116 120 125 130 13.4| 139
8H 27.4 0 0.18%| 9.9 104 109 11.3| 118 123| 128 13.3| 138| 14.3| 148
9R 23.9 0 0.18%| 86| 90| 95/ 99| 103 108| 112 11.6] 120 125 129
108 18.7 0 0.18% 67| 71| 74 77| 81| 84| 88 91| 94| 98| 101
118 13.7 0 0.18%| 49| 52 54 57 59 62 64 67 69 72| 74
128 9.2 0 0.18%| 33| 35| 36| 38 40 41| 43| 45 46 48/ 50
F 16.5 -71.2| -74.8| -78.4| -81.9| -85.5 -89.1| -92.6| -96.2| -99.7|-103.3|-106.9

17 ADBEARN=-5B1°CTO. 22% TEtE
BRRBNEORE=-5CDIHFE
BB | B¥EY | ROEE |BA®KE 200[ 210( 220 230[ 240 250( 260[ 270( 280[ 290 300
18 6.6 5 022% 07| 07/ o8/ o8 08 09 09 10 10 10[ 1.1
2H 6.8 5 022% o8| o8/ o9 o9 10 10 1of 11| 1| 11| 12
3H 9.6 5 022% 20| 21| 22 23 24 25 26/ 27 28 29| 30
4H 14.9 5 022%| 44| 46| 48 50 52 54 57 59 61| 63 65
5H 19.2 5 022%| 62| 66| 69 72 75 78 81| 84 87 91| 94
6H 22.2 5 022% 76| 79 83 87 91 95 98/ 102| 106| 11.0] 11.4
7H 25.7 5 0.22% 9.1 96| 100 105| 109 11.4| 118 123| 128 132| 137
8H 27.4 5 0.22% 99| 103| 108 11.3| 11.8] 123 128 13.3| 138| 14.3| 148
9R 239 5 022% 83| 87 91 96/ 100[ 104| 108 11.2| 116| 121| 125
108 18.7 5 022%| 60| 63| 66| 69 72 75 78 81 84 87 90
118 13.7 5 022% 38| 40| 42 44 46| 48 50 52| 54 56| 57
128 9.2 5 022% 18] 19| 20 21| 22 23] 24 25| 26/ 27| 28
F 16.5 -60.7| -63.7| —66.7| -69.8| -72.8| -75.8 -78.9] -81.9 -84.9| -88.0[ -91.0




